
Change from radical/root form to exponential form.

ඥ3ଶ
⎯⎯ఱ

=

ඥ(−7)ଷ
⎯⎯⎯⎯⎯⎯ర

=

ඥ3ହ
⎯⎯మ

=

ඥ2଻
⎯⎯మ

=

ඥ𝑥ସ
⎯⎯⎯య

=

ඥ𝑥ହ
⎯⎯⎯మ

=

√5
⎯⎯ 

=

√6
⎯⎯ 

=

Change from exponential form to radical/root form. Simplify if possible.

−3
ଶ
ଷ
⎯⎯=

(−5)
ଶ
ଷ
⎯⎯=

(−5)
ଷ
ଶ
⎯⎯=

16
ଷ
ସ
⎯⎯=

9
ቀ

ହ
ଶ
⎯⎯ቁ

=

81
ହ
ସ
⎯⎯=

(−125)
ቀ

ହ
ଷ
⎯⎯ቁ

=

3
ଵ
ଷ
⎯⎯× 3

ଵ
ଶ
⎯⎯=

Simplify by exponents laws. Answer in root form.

5
ଵ
ଶ
⎯⎯× 5

ଵ
ସ
⎯⎯= 7

ଷ
଼
⎯⎯× 7

ଷ
ସ
⎯⎯=

6
ଷ
ଶ
⎯⎯÷ 6

ଵ
ସ
⎯⎯= 5

ହ
ଶ
⎯⎯

5ସ
⎯⎯ =

2
ଵ
ସ
⎯⎯

2ି
ଵ
ଶ
⎯⎯

⎯⎯⎯ =

൫7
ଵ
ଶ
⎯⎯൯

ଷ

=
൫5

ଶ
ଷ
⎯⎯൯

ଵ
ସ
⎯⎯

= (5଴.ହ)
ଵ
ଷ
⎯⎯=
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